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0.020
|

0.010
|

0.000
|

I I I I
80 100 120 140

N =3 Bandwidth = 8.896
breakpoint: 24177236 — 24177238 mt—0 no—-0

Bp = 23 line = MAGIC.338 , Chr =2

0.0010
|

I I I I I I I
-200 0 200 600 1000

0.0000
|

N =3 Bandwidth =143.7
breakpoint: 7158572 - 7158900 po-0 sf-2

Frequency

Frequency

line = MAGIC.338,Chr=1

1.0

00 02 04 06 038

[ I I I 1
90 100 110 120 130

breakpoint: 24177236 — 24177238 mt-0 no-0

line = MAGIC.338, Chr=2

1.0

00 02 04 06 038

[ I I I I
0 200 400 600 800

breakpoint: 7158572 - 7158900 po-0 sf-2



